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1 Existence in the baseline model

We need to examine whether both schools choosing effort level e¥ as defined in (10) is an equilibrium of the
game in which both schools simultaneously choose efforts and then households allocate their children across
schools in the manner discussed in the text. The analysis in the text establishes that, when school B chooses
e, effort level e} satisfies the first order necessary condition for maximizing school A’s payoff
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subject to the constraints that e4 — ef + au is positive and e4 — e§ + /2 is less than ¢. These constraints

guarantee that school A’s enrollment is given by
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where Ag(es —e¥) is as defined in (6). They also guarantee that Ag(ea —e%) € (0,¢). Similarly, the analysis
in the text establishes that, when school A chooses e, effort level e satisfies the first order necessary

condition for maximizing school B’s payoff

subject to the constraints that e — ep + au is positive and e — ep + apt/2 is less than e.

To establish that both schools choosing effort level e is an equilibrium we have to check that, for each
school, e§ is a genuine best response to the other school choosing e%. As noted in the text, there are two
distinct sets of issues to worry about. First, for each school, is e a global maximum in the set of effort levels
that give rise to a school quality differential described by (6)? Second, for each school, does e dominate

effort levels that would generate a negative school quality differential which would not be described by (6)?

1.1 First set of issues

We begin with the first set of issues. The first step is to explore the properties of the equilibrium quality
differential (6). We have that for all Ae € [—au,¢ — au/2] the first and second derivatives of the quality

differential are
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Thus, the equilibrium quality differential is an increasing and convex function of the schools’ effort differential.
When school A chooses effort level e}, Ae will be greater than —ap if ep € [0,e5 + ap]. Thus, school

B’s payoff on this interval is

Given (A2), this payoff is concave. Accordingly, since e} satisfies the first order condition (9), e¥ is optimal
in the set of effort levels [0, €% + apl.
Matters are more complicated for school A. When school A chooses effort level e, Ae will belong to the
interval [—ap, ¢ —ap/2] if eq € [max{0,e§ — an}, el +¢— ap/2]. Thus, school A’s payoff on this interval is
Aq(eA — eg)] o é
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The second derivative of this payoff function is
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which, given (A2), is not obviously negative. School A’s second order condition is satisfied at e4 = e if
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—5 <7
(62 + 404;16)%

Obviously, it is straightforward to impose assumptions under which this is true. For concavity over the whole
interval, we need that

Aq”(ea —ef) < 2y

over the relevant range. From (A2), this requires that for all e4
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Notice that provided that ¢+ eq — e§ > 0, the right hand side of this inequality is increasing in e4. Since

ea > e — ap, the right hand side will be increasing in e4 if ap < €. Under this assumption, a sufficient



condition for concavity is that
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This holds if
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1.2 Second set of issues

To address the second set of issues, we need to first describe the schools’ payoff functions when Ae + au
is negative and the quality differential is negative. To this end, assume that households anticipate that the
quality of school A will be lower than that of school B, so that Aq = g4 — ¢g < 0. Then, all households in
neighborhood B will use school B and households in neighborhood A will use school B if their costs are less

than —Agq and school A otherwise. It follows that
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Using (1), this means that, if households have rational expectations, Ag must satisfy the equation
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This is a quadratic equation with solution
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The solution will lie in the interval [—¢, 0] if Ae + ap is non-positive and if Ae + ap/2 is greater than or
equal to —¢. Given this, with effort levels e4 and ep such that Ae lies in the range [—¢ — ap/2, —apy], the

two schools will anticipate enrollments of
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We need to understand whether either school has an incentive to deviate from choosing effort level e% to
choosing an effort level such that Ae ends up in the range [—¢ — au/2, —au]. Key to this are the properties

of the equilibrium quality differential (A4). Differentiating, we have that:

Ad(Ae) = % n c-ac >0 (A5)
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Thus, the equilibrium quality differential continues to be increasing and convex in the range in which it is
negative. Note further that
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The first equality implies that the equilibrium quality differential is continuous at the point at which it
switches from negative to positive. The second inequality implies that it has a kink at the switch point: in
particular, its slope jumps down.

Now consider the incentives of school A to deviate to choosing an effort level such that Ae ends up in
the range [—¢ — au/2, —ap]. This requires that school A reduce its effort level. The lowest effort level it can
choose is zero, so that if e§ is less than au, then such an effort level does not exist. From (10), note that e}
is less than ap if

< ap.
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A sufficient condition for this is that
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If e exceeds ap, we need to consider the behavior of school A’s payoff function for effort levels e4 on the
interval [0, e% — ap]. The first and second derivatives of school A’s payoff function on this interval are
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Note that school A’s payoff must be increasing at e4 = 0 since

Ag”(—e5)

% > 0.

Under (A3), it is also increasing at e4 = ef — ayt. This follows from the facts that
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However, this does not rule out the possibility that there is a maximum in the interval (0, e§ — au). If this

maximum occurs at €4 € (0, e5 — au), it would have to be the case that
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We could rule out the possibility of such a maximum by trying to find conditions under which for all

ea € (0,e5 —ap)
7AqL(e2AE_ ¢5) —veq > 0.
Alternatively, we could allow for the possibility that such a maximum exists but try to find conditions under
which the payoff associated with this maximum is less than the equilibrium payoff. Both strategies are
difficult and the simplest resolution to the problem is just to assume (A8) holds, so that this range does not
arise. However, it should be noted that simulations suggest that school A has no incentive to drop its effort
level even when this range arises.
Now consider the incentives of school B to deviate to choosing an effort level such that Ae ends up in the
range [—¢ — ayu/2, —ap]. This requires that it increase its effort level. The relevant range of effort levels is

es + au, el + ¢+ au/2]. For effort levels in this range, the first and second derivatives of school B’s payoff
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function are
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From (A6), we see that the second derivative is negative, implying that school B’s payoff function is concave
on the interval [ef + au, el + €+ au/2]. This is convenient, but it does not rule out the possibility that
deviating to an effort level in the interval [e§ + o, e§ + €+ ap/2] is desirable, since from (A7) we know that

Aq' (—ap) exceeds Ag' (—apu). If
A¢ (—a
B (et +am >0, (A9)
then school B’s payoff function will be increasing on the first part of the interval [ef + ap, el + ¢+ an/2).
If (A9) holds, then the optimal effort level in the interval [e} + ap, e + €+ ap/2] occurs at ep where
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9 Y€B

We can rule out the possibility of such a maximum by finding conditions under which (A9) does not hold.

Under the assumption that ap < ¢, we have from (A5) that

1 cH+ap
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Using (A1), we obtain
c+a c—« 4ea
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Now note that for all ¢ the first order condition (9) implies that
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Thus, given that Aq’(Ae) is convex, we have that for all ¢
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then
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Now, from (A10), we have that
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Thus, if
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then (A9) does not hold. Even when this condition does not hold, a simulation analysis reveals that school

B is not better off deviating to a higher effort level.

1.3 A sufficient condition for existence

Summarizing all this and collecting together inequalities (A3), (A8), and (All), we have the following

proposition.

Proposition Suppose that

1 1
¢ > max {a,u, & i QL Y (a/,L)Q} .
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Then, both schools choosing effort level e as defined in (10) is an equilibrium of the game in which both
schools simultaneously choose efforts and then households allocate their children across schools in the manner

discussed in the text.



2 Solutions for model with Tiebout choice

2.1 Solution of equation (23)

Equation (23) has solution

V1B +05) (€ = 1)+ 201 (8 (0 — 54) + 6.2)1° + 81 (65 + 04) (A + apt + )54

+21 (B (6 —64) +64) — (64 +6B) (£ — )
z(Ae) = YIEPE . (A12)

Equation (A12) provides a closed form solution for the equilibrium size of neighborhood A for any given school
effort levels. This equation captures the expected relationships between the demand and supply of housing and
equilibrium neighborhood size. To see this, suppose that 4 = 04 = ¢ (i.e., the elasticity of housing supply is
the same in both neighborhoods). In this case, equation (A12) can be written z(Ae) = £+ 7V£2—T;6U_5, where
v = Ae+ap+b captures the relative value of neighborhood A (i.e., the difference in effort, composition and the
non-school amenity). If this value is zero then z = % (i.e., the population is split equally into neighborhoods
A and B). If this value is positive then the size of neighborhood A is increasing in the elasticity of housing

supply 0 and decreasing in households’ sensitivity to price differences &.

2.2 Solution for e}

Computing the derivative 2/(0) from (A12) and substituting into (26), the equilibrium effort level with

Tiebout choice but no school choice is

0A0B
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2.3 Derivation of condition to make z(0) =1/2

Given (A12), we require that

\/[(5A +05) (€ — 1) + 21 (B (65 — 0a) +04))* + 81 (55 + 0a) (apu + b)adp
+2p (B (05 —64)) — (04 + 6B) (§ — ) = 2ud5,



or, equivalently,
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Squaring both sides and cancelling, we get

(64 +05) (€ — 1) 4 (B (05 — 04) +84) + [20 (B (05 — 64) +84)]° + 81 (05 +84) (ap +b)0adp
= —(6a+0B) (E— )4 (B (5 —64) —68) + 2 (B (p — 84) — 65)]°.

Further manipulation reveals

(04 +38) (€ —1)2(B (0B —0a) +0a) + 20 [28 (0 — 04) 04 + 03] +4 (05 +6a) (apr +b)0adp
—(64+0B) (€= 1) 2(B (68 —0a) — 6B) + 21 [63 —26(5p — 04) 0p] .

This implies that

(6a+06B)(E—p)2(28—1) (6 —64) +2u [28 (6 — 64) (64 +68) — (05 — 63)]
+4(0p+64) (au+b)dadp =0,

which reduces to
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This implies that
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which is (27).

2.4 Solutions for z(Aq) and Ag(z, Ae)

In light of (24), the solution of equation (31), given a school quality differential Ag, is

\/[(5A +08) (6= 1) + 21 (B (05 —64) +0a)]” + 81 (05 +6a) (1 — 32)Aq +b)dads
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Following the same steps that led to (5), the quality differential, given x and Ae, is

\/(:L’E + Ae(1 — 2))? + dapiex(l — z) — (¢ — Ae(l — z))

Aq(z, Ae) = S0 =)

(A15)

2.5 Existence and uniqueness with Tiebout and school choice

Define the function

p(z; Ae) = v — x(Aq(z, Ae)),

where the functions z(Ag) and Aq(x, Ae) are defined in (A14) and (A15). For existence, we need to show
that there exists a solution to the equation p(x;Ae) = 0. Note that when z is close to zero, then the
composition of school A is entirely determined by the switchers. Accordingly, there is no difference between
the composition of the two schools and thus Aq(0, Ae) = Ae. Since z(Ae) > S, it follows that ¢(0; Ae) < 0.
Now consider what is happening at the other end of the distribution. If x is close to one, then almost
everyone is in neighborhood A. The type therefore converges to the average type 0. The remaining types in
neighborhood B are close to the worst types. Thus, they are of type —u. It follows that it should be the
case that Ag(1, Ae) = Ae+ apu. But with this quality differential x(Ag(1, Ae)) < 1— S. Thus, ¢(1; Ae) > 0.
Existence follows from continuity. A sufficient condition for uniqueness is that at any solution point of the

equation ¢(z; Ae) = 0, we have that

Op(x; Ae)
ox
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> 0.

2.6 Calculating the derivatives with Tiebout and school choice

Totally differentiating the system (32), we obtain:

1 —2/(Ag*)| | dz* 0 dAe
_ BAq(g; ,Ae) 1 qu* aAqé()rA*e,Ae) dAe

By Cramer’s Rule i
dz*(0) B 2/ (Ag¥) 0Aq(z”,0)

_ OAe
dAe 1—2/(Ag¥) OAqa(z*,O) ’
and
% OAq(x™,
dagr(o) _ 2o
dAe 1 — x’(Aq*)aAqéi*’o) )
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2.7 Solution for e},

Substituting the derivatives just obtained into (35), the equilibrium effort level with school and Tiebout

choice is
1 Aa* "(Ag* 0 0Aq(z*(0),0) 0Aq(z*(0),0)
egT == (1 _ q(0)> T ( q ( )) aAaA(/Ci*(O) 0) _|_ (1 _ J;*(O)) OAe -
o c 1 — a/(Ag#(0)) 2242 (0.0) ¢ (1 - x’(Aq*(O))iaAq%m(o)’o))

(A16)
The derivatives in this expression can all be calculated from (A14) and (A15), but the resulting expressions

are cumbersome so we do not report these here.

3 Welfare calculations for model with Tiebout choice

3.1 Without school choice

Average consumer welfare, W4 and Wg, can be written as:

11 ®
Wa = oo [ laasbo - 9Pads
372/,0 n—2px
11 e
= — — (£ — s)Pglds.
Wo = g s € Rl
Substituting for g4, we can write
11 [# 1
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1P K
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Similarly, substituting for qp, we have
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In neighborhood A, housing supplier surplus can be written as

1 1
HS, = 3 (PaQa + BPa) = §5AP31 + BPa.

For neighborhood B we have
1
HSp = §5BP§ + BPg.

3.2 With school choice

The expression for average consumer welfare for neighborhood A is the same as above. For neighborhood B

it is different because some families will be using school A:

11 ®
W= 77/ [ga+b— (€ — 5)Palds = [qga +b— EPa] +4uPa (1 — 2).
I2M pn—2px

ds

C1l—x2u —u Aq

2
= [¢gp — {PB] — 4uPpx + %.

1 1 [rme Aq dc < de
W l/ @-9%+ [ % —c-srn
0

Finally, the housing supplier surplus for both neighborhoods stays the same as above.

3.3 The welfare impact of school choice with Tiebout choice

To compute the welfare change for residents in each neighborhood we need to take into account that some
of them will be moving from neighborhood A to neighborhood B when school choice becomes available.
We will denote quantities with school choice with superscript ST, and quantities without school choice-with
superscript T. The average welfare changes below are computed for the residents that reside in a given
neighborhood before the school choice becomes available. (These welfare changes do not take into account
changes in housing supplier surplus, which are straightforward to compute and are added when reporting the
results in the paper.)

We have that x7 > xgr. It follows that average welfare change for original residents of neighborhood A

12



can be derived as follows:

o
xTAWA:i/ (57 +b— (€ — 5)PST] ds+
2M n—2uzST
1 ne2uatt ad* ST dc K srdc ST T[T T T T T

7/ / ((IA —C)T+/ ap — — (£ —s)Pp dS—{x [qA+b—€PA]+4ﬂPAx (1_5”)}

HJp—2uxT 0 c AgST c
(Ag5T)*
= 5T [qiT +b— §P§T] + (JJT - .Z‘ST) qu + 9 + 4uP§T 25T (1 — xST) +

4uPgT (;vT — xST) (1- z? — I'ST) — {xT [qu +b— §Pff] + 4uPhx” (1- xT)} .

The expression for welfare changes for original residents of neighborhood B is simpler, as all of them stay

put:

ST)2
AWp = {[QET —&PgT] —AuPyTa" + Lq% ) }

2
- {[qg —EPL) —4uPga” + (A;]C)}-

4 Solving for equilibrium in model with capacity constraints

Our solution procedure has three steps. We first construct functions E4(Ae), Eg(Ae), and Ag(Ae) for all
Ae € R. Second, we construct the region [ay, ay] where a pure strategy equilibrium does not exist. Third,
for this region, we conjecture what a mixed strategy equilibrium looks like and provide conditions that are
necessary and sufficient for our conjecture to be true.

Step 1. Functions E4(Ae), Eg(Ae), and Ag(Ae) for Ae > —au have already been constructed in the
main text. We now need to construct them for Ae < —au. Recall that in Section 1.2 of this Appendix
we constructed these quantities, but without taking into account the capacity constraint in school B. The

question is when the enrollment in school B, as derived in Section 1.2, will exceed E :

EB(AG) =

DN =

Substituting for Ag_(Ae) from (A4), the inequality above becomes

\/(E—Ae)2 —4auc — Ae—¢
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which, after some straightforward manipulation, can be written as

Ae< —(2E—1)c-

SIS

When the condition above holds, school B enrollment is E and school A’s is (1 — E), which implies that

sa=%and sp = %% It follows that, with capacity constraints, Ag(Ae) for Ae < —ayu can be written as

2

SHAeoVE A AT 4 Ne > (2F — 1) e — 2
Ag(Ae) = -~ 2
Ae+ 22 if Ae < — (2B — 1) e — 2

|

Furthermore,
i [1+7Aq@e)] if Ae >~ (2B —1)c— 2
EA(AG) _ 2 : *7 ( ) 2F ,
1—EifAe<—(2E—1)E—g—%
and

o

%[1—%} if Ae > — (2 —

[\)
|

Ep(Ac) = B = Je-
EifAe<—(2E—1)E—g—§
This concludes Step 1.

Step 2. Next step is to figure out the region where a pure strategy equilibrium does not exist: [ar, ay].
The lower bound of this region, a,, is the value of « at which, if school A exerts equilibrium effort as predicted
by the baseline model, then school B is indifferent between exerting equilibrium effort and exerting zero effort.
The upper bound, ay, is the lowest value of « for which zero effort by both schools is an equilibrium. We
construct it by checking whether, assuming school A puts in zero effort, there is a positive effort level that
makes school B better off than if it put in zero effort.

Step 3. Next we conjecture what a mixed strategy equilibrium would look like. Define w4 (75) as the
probability that school A(B) puts in zero effort. An equilibrium consists of four objects: (74, 7p,ea,e5). A

candidate (w4, 7p,ea,ep) is an equilibrium iff the following conditions are true:

62
ea = argmax {raBa(e)+ (1= m)Bale — ex) 15 )

2
e = argmgx{wAEB(e)Jr(lWA)EB(GA6)762}
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and

62

WBEA(BA)+(1—7TB)EA(6A—63)—’}/714 = WBEA(O)—F(l—ﬂ'B)EA(—eB)
WAEB(*BB)#*(I*WA)EB(GA*63)*’7% = 7waEp(0)+ (1 —7a)Eg(ea)

The first two simply state that given the other school strategies e4 and ep are best responses. The last
two state that putting in zero effort is also a best response. These conditions constitute a system of four
equations in four unknowns. For each value of o € [ar,, ay], we solve this system using numerical methods.

The resulting solution is the conjectured mixed strategy equilibrium.

5 Solving the model with costs varying by socio-economic status

Suppose the anticipated quality differential Aq is non-negative. Then, households in neighborhood B will
use school A if they are mobile and their costs are less than Aq. Accordingly, the fraction of households
exercising choice is (1 —A)Agq/2¢ which is independent of §. What depends on 6 is the average socio-economic
status of these households. Consider some type s residing in neighborhood B (i.e., belonging to the interval
[-u,0]). The probability that this type will exercise choice is [1 — A+ 0(u/2 + s)] Ag/c. The probability
density of these types in the set of those exercising choice is therefore [1 — A+ 0(u/2 4+ s)] /(1 — A). With
some work (see the next section), it can be shown that this implies that the average type in the set of those

exercising choice is
0 2
A, bw

2 12(1=-XN)° (AL7)

Note that this is increasing in #. This in turn implies that the average socio-economic status of school A’s

students is

1—(1— XAz 4 Aabp
sA:% (1=N)7F S (A18)
I+(1-N=
and that of school B’s students is
" Aq op
sp=—- |[1+—=0 1. A19

Using (1), this means that, if households correctly anticipate other households’ decisions, Ag must satisfy

the equation
all apu—= a
Aq + <

Aq:Ae—Fl—i—(l—)\)? 1_((1_/\)M>2.

(A20)
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This gives rise to a cubic equation. It is possible that this equation has two positive solutions in the
relevant range (i.e., satisfying Ag < ¢). In such a situation, there are two possible equilibrium quality
differentials. One involves a low quality differential and few students from the less affluent neighborhood
exercising choice. The other involves a high quality differential and more students switching schools. This
multiplicity is possible because the high socio-economic students are leaving the school in the less affluent
neighborhood and hence lowering its quality when they leave. Because they are of lower socio-economic
status than the students in the affluent neighborhood, they also lower the quality of school A. However, the
reduction in the quality of school A can be smaller than the reduction in the quality of school B and this
is what underlies the multiplicity. Nonetheless, this is only a possibility and does not arise in the numerical
example analyzed in the paper.

Given all this, with effort levels e4 and ep, the two schools will anticipate enrollments of

1 Agq(Ae)]
Ea(Ac) =5 |1+ (1~ n2aad ] (A21)
5
and
Ep(Ae) = % 1= (1 y2alBe) (A22)
c
The equilibrium effort levels will be identical and given by
. . 1 [(@d=X) Ad(0)

Computing the derivative from (A20), we find that the equilibrium effort level is e}, (effort under school

choice with costs varying by socio-economic status) which is defined to equal

1—A
2 (c—l— ap(l—X) _ au%(1+((17)\)Aq§0))2>
(1+

-0 (1-(a-nAE)%)”

(A24)
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Given (A24), the equilibrium qualities of the two schools under school choice (g%, ¢5) will be given by

A A "
=+ o 1 (10240 + 2405 (A25)
A v 2 1+ (1 _ )\) AqE(O) )
and
Aq(0) O
* * all —
- 2| A2
e ‘*‘1(1)\)ch(0)] (A26)




6 Derivations for the model with costs varying by socio-economic

status

6.1 Derivation of (A17)

Given the discussion in the text, the average type is

Lol
/[<1u_H0;> 0
= {2<1M AJFHM>+S;<M1 /\)>I——u
- -[¢ (1_”% 7 ()|
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)
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6.2 Derivation of (A18) and (A19)

For (A18), note that we have that

Sq4 = 1

For (A19), note that we have that

(1—>\)% <—g+(12)0(lf2_/\)>+<)\+(1—)\)(1—Acq>)53:—g
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Thus,

T )\+(1—/\)(1—¥>
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1
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6.3 Derivation of (A20)

Aq Aq Op Aq Op
p 1= - N34 2 s
Agq = Ae+alz c c 6 44 T6
1 <2l 1+ (1—A)ae - (1- A2
Aq Op Aq Op
bl 2+5F% Z 6
= Ae-‘—a — (& _|_ C
(2 1+ (1-))4as —(1-x)&

= 1 z 6 =
= Ae+a v e
(1+ (1 —A)7) (1 -~ —A)?)
1-(1-N52+ 228
= Ae+ap Ao v
<1+(1—)\)7) 1—(1—)\)7>
Aq op
= Aot — My e

7 Multiple neighborhoods

This sub-section illustrates how to extend our benchmark model to allow for multiple neighborhoods. The
key simplifying assumption is that, under school choice, it is feasible for each household to attend only one

school outside their neighborhood. Moreover, this feasible alternative school varies across households within
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a neighborhood. These assumptions mean that each household in a neighborhood faces a simple binary
choice, which keeps things tractable. Nonetheless, since households within each neighborhood are choosing
between different alternatives, schools can obtain enrollees from multiple neighborhoods and are therefore
effectively competing with all schools in the community. In the exposition to follow, we focus on the case
of three neighborhoods to reduce the algebraic burden. However, it should be clear that the approach will

generalize to larger numbers.

7.1 The model with three neighborhoods

Assume the same set-up as in the benchmark model, but now suppose that the community is divided into
three neighborhoods, A, B, and C, each containing 1/3 of the population. There are three schools serving
the community, one in each neighborhood, and the school in neighborhood J € {4, B, C} is referred to as
school J. Neighborhoods are stratified, so that households of types [u/3, p] live in neighborhood A; types
[—p/3, 1/3] in neighborhood Bj; and types [—u, —u/3] in neighborhood C.

Each household can freely send its child to the school in its own neighborhood. In addition, under choice,
it can use one of the two schools in the other neighborhoods at a cost. Specifically, one half of the households
in neighborhood A can send their child to school B while incurring a cost ¢g and the other half to school
C' at a cost co. These costs are independently and uniformly distributed on the interval [0,¢]. Similarly, one
half of the households in neighborhood B (C) can send their child to school A at a cost ¢4 and the other
half can use school C' (B) at a cost cc (cp).

Households’ payoffs are the same as those in the benchmark model. For example, a household living in
neighborhood A with a cost ¢ (c¢) obtains a payoff g4 from using school A, and a payoff g5 — cg (gc — c¢)
from using school B (C) where ¢; again refers to the quality of school J. A school’s quality depends on
school effort and the average socio-economic status of its children as before. Moreover, schools’ payoffs and
the timing of the interaction between schools and households are also identical to their counterparts in the

benchmark model.

7.2 Impact of school choice

We now explain how we can use this extended model to analyze the impact of school choice. Under a no-
choice policy in which households must enroll their children in their neighborhood school, schools continue
to have no incentive to put in effort, so school qualities just depend on the neighborhood’s socio-economic
status. Accordingly, school A’s quality is 2au/3, school B’s is zero, and school C’s is —2apu/3. Hence, a

household living in neighborhood A obtains a payoff 2a/3, a household living in neighborhood B obtains a
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payoff 0, and a household living in neighborhood C' obtains a payoff —2au/3.

To understand what happens under choice, we follow the same strategy as for the benchmark model.
Thus, we first analyze the second stage of the interaction where, knowing school effort levels, households
simultaneously choose where to enroll their children. Then, we study the first stage where schools choose
effort levels taking into account their implications for enrollment.

In the second stage, a household who lives in neighborhood J and has access to school I, will use school
I if and only if q; — q; exceeds c¢;. Assuming that households anticipate that the quality of school A will be
higher than that of school B and that the quality of school B will be higher than that of school C', households
in neighborhood A will use school A, households in B will use schools A and B, and households in C' will
use schools A, B, and C. With a little work, it can be shown that the average socio-economic status of the

children enrolling in the three schools are

— 2u __2c—gqatqc
3 | 2¢+29a—gB—qC

— _2___gs—4c A27
$B 3 264245 —qa—dc (A27)

2u
Scif?l

Using the fact that ¢; = e; 4+ asy, it follows that:

_ _ 20 2¢—qa+tqc
€A = 4A ~ O e ga—gs—q0

ep =qp +a¥ 26T245 a1 —dc (A28)
ec =4qc + Oé%“

System of equations (A28) implicitly defines the school qualities (ga,qp,qc) as a function of the schools’

effort levels (e4, e, ec). This system has the convenient property that the partial derivatives of school quality

with respect to school effort (i.e., dqr/Oe) can be expressed as functions of (¢4, ¢p, ¢c) only. As an example,

consider the impact on qualities of a change in school A’s effort e4. The third equation of system (A28)

implies that dqc/des = 0. Totally differentiating the first two equations then implies that dga/0es and

0qp /0e s must satisfy the following two equations:

0gqa

o= Oaa 2 Jea Lo F—aatac {an_an}
dea 3 264294 —qB —qc 3 (2642q4—qp —qc)’ | Oea  dea]’
d
0 — dqp 2p s 2p 4B — qc [ 5¢IB 3%}
= — 4a—-—— — 5125 — — 5~
dea 3 2+ 29 —qa — qc 3 (2¢4+2gp —qa —qc)? | Oea  Oea
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These are two linear equations that define dg4/0e4 and dqp/0dea as functions of (¢a, g5, qc)-

Turning to the first stage, the schools’ enrollments are given by

Ba = 1+ astncae
Bp=1[1+412-9a-gc] (A29)
Bo = § [1+ yestacsn

Using the first order conditions for the schools’ maximization problems, it follows that the equilibrium effort

levels (e%,ep, el,) must satisfy the following conditions:

* o _1 994 _ OqB
€4 = 6 |:266A 88A:|
_ _1 |99g9 _ Oqa
eB - 6vc |:2 dep 885:| ! (A30)
x _ 1 g _ Oq _ 09a
ec - 6vyc [2 dec 8ecj|

Combining (A28) and (A30) we obtain

no

1 |99gqa _ 9qB| _ ., _ 20 __2C—qatqc
{2 dea dea| — 94T 3 r2ga—qn—qo
2

1 |99g5 _ Oga | _ 2p 9B —4qc
6+c [2 dep 363} =4ty 2c+2gp—qa—qc (A31)

1 _9qB _ 9qa | _ 2p
6~c |:2 dec 050} =qc t« 3

As already observed, the partial derivatives dq;/0de; for all I, J can be expressed as functions of (¢4, ¢s, qc)
only. Thus, system (A31) provides three equations in the three equilibrium school qualities (g4, g5, qc).
Obviously, given our assumptions on the rankings of the schools, we need a solution that satisfies g4 > gp >
gc. Given such a solution, the associated equilibrium effort levels can then be obtained from (A28).

While system (A31) is too complicated to permit analytical results, it can readily be solved numerically

for the equilibrium school qualities under choice.!

We can then compute the impact of school choice on
school quality and household welfare just as we did for the benchmark model. The changes in school quality
and household welfare in the three neighborhoods are defined in the obvious ways. Figure Al illustrates our
findings. It assumes the same underlying parameter values as does Figure 1. Note that the aggregate impacts
of choice, along with the impacts on the most and least affluent schools and neighborhoods, are identical to

those illustrated in Figure 1. The additional complication concerns what happens to the middle neighborhood

- B. Basically, when peer preferences or neighborhood inequality are strong, it suffers in the same way as

LOf course, this procedure for finding equilibrium does not account for the possibility of deviations in effort levels that
change the quality ranking of the three schools. While we do not expect that such deviations will be desirable, finding sufficient
conditions to rule them out as we did for the benchmark model would obviously be much more involved and we do not attempt
that here.
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Figure A1l: The impact of school choice in the model with three neighborhoods

22



does the most affluent neighborhood, although it is not as adversely impacted. Note also that the school
effort levels are no longer symmetric once « is positive. This reflects the fact that the schools are competing
over different groups of marginal students.? Interestingly, it is the school in the middle neighborhood that

puts in the most effort and the school in the most affluent neighborhood that puts in the least.

2School A is competing to attract students from schools B and C; school B is competing to attract students from school C
and retain students who can attend school A; and school C is competing to retain students who can attend schools A and B.
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